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Correct : 1 Wrong: 0.33
For a linear system, the input-output relationship is expressed as:

Options:
L4 Y = B

sw Y=0a.x* +tax+c
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Options:
1@ ¥ = i

, % Y=

sx Y=a1x* +ax+c
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‘Which of the following is not an example of servomechanism?

Options:
, » Machine tool position control

-~ % Power steering apparatus for an automobile

= % Missile launchers

4  Temperature regulator
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Laplace Transform of e®* is given by:

Options:
; & S/(s — a)
2w 16— a)

3 = /(s +a)

4w /(s + a)
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; & §/(s — a)
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3 = /(s +a)
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A singular matrix is a square matrix with:
Options:

1 % all elements with value as zero



- % main diagonal elements as unity and others with value as zero

5 « associated determinant as zero

4, = all conjugate terms
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For the function F(s) = o the initial and final values are:

s(s2+ 25+ 2)
Options:

| ¢ 0,05
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L 0, 2
- 1,05

4% 1,2
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Which of the following features does not pertain to a servomotor?

Options:
, « Nonlinear relationship between the speed and electric control signal

- % Steady state stability

- % Wide range of speed control

, % Linear mechanical characteristics throughout the speed range
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The force in a translational system is analogous to which of the following in a rotational system?

Options:
1 % Inertia

5  Torque



5 % Spring

, % Displacement
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The angle between adjacent asvmptotes in asoot locus analysis for K < 0 is:
Where q = number of finite poles and p = number of finite zeros

Options:

; » 360°/(q+p)
> % 180°/(q—p)
5 = 180°/(q +p)

4 v 360°/(q —@)
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Options:
| % 360°/(q +p)

, » 180°/(q —p)



5 » 180°/(q +p)

4 v 360°/(q —Dp)
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For an N-channel JFET, determine the value of drain current when ID;, = 1mV,Vp = —4V and V;, = -2V

Options:
1 % 0.5mA

- o 0.25mA
= % 0.8mA

4 ® 1mA
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At 300 K temperature, the fermi level of an N-type semiconductor is 0.3 eV. The new position of the fermi level at 360 K
will be:

Options:
1« 0.36eV
> ® 0.03eV

= % 30eV

4 ® 03eV
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Options:

. v 0.36 eV
. % 0.03 eV
2 % 30 eV

L% 03 eV
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Which of the following is correct?
Options:

1 % JFET has zero offset value.

- » Compared with MOSFETs, JFETs are easier to fabricate.

- % The drain resistance of MOSFET is higher than that of JFET.

4  The input resistance of MOSEET is higher than that of JFET.
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Which of the following is not true about a tunnel diode?

Options:
, + Ithashigh power operation.

> x I works at a high speed.

% % It can be used as a microwave oscillator.

4, % ltcanbe used as an amplifier.
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‘Which of the following fransistor configurations has the highest input resistance?

Options:
1 # Common Base

> « Common Collector
= % Common Emitter

4 % Both Common Base and Common Emitter

Question Number : 13 Question Id : 72462213 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
ffaf@a & @ &l & g Fiewpee # 3a9e Jfory 7ed 3w 82

Options:



| % HIAF T

o  HIHAA Felee

5 % AT THHT

4 % BIFEST a7 3 FAA ofFHeT At

Question Number : 14 Question Id : 72462214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
v

Vi

0o T 2T 3T !

The average and rms values, respectively. of the above waveform are:

Options:
;w08 Vi 0577 Vi

% 0.1V, 0577V,
% 05V 0.7Vin

3

won TV 07V 02
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50 ohms

40 ohms
S0V  —— 20 ohms 10 ohms
I 10V

In the given circuit, the value of current flowing through the 10-ohm resistance is:

Options:
1 % 05A

5 o 0.8A
z B 1A

g 2A
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Rb Rc

In star to delta transformation,

Options:
1 B R, = Ri+ R, + ((R;Ry)/R3)
o ® R, = Ry + R; + ((R;R3)/R3)

3 R, = R, + R; + ((RyR;3)/R;)

4 % R, = R, R; /(Ry + R, +R3)
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For which of the following, resistance of the material increases with temperature?

Options:
1 % Semiconductors

> % Insulators
- % FEureka

4  Alloys
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‘Which of the following is not a feature of a short circuit?

Options:
1 + It has infinite resistance.
> % Current through it is very high.

5 % [lhere is no voltage across it.

4 % It has zero resistance.
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The measured value of voltage across a resistor is 75 V. However, the expected value is 80°V. Calculate the percentage
error and relative accuracy.

Options:

1w Percentage error: 6.25%, relative accuracy: 0.9375

5 % Percentage error: 1.25%, relative accuracy: 0.9875

5 ® Percentage error: 1.25%. relative accufacys 0.9375

4 % Percentage error: 6.25%, relative accuracy: 0.9875
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The most common observational error is:
Options:

1 % Instrumental error

> « Parallax error
=z % Environmental error

4 % Absolute error
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A 2 mA meter movement is torbe converted into 0—100 mA having 110 £ internal resistance. The value of shunt
resistance will be:

Options:
;% 1.12Q

> % 1240
3 o 2240

4% 2120
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Options:
% 112 @

> % 124 @
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Precision Pracition
resistor eRitior
(G

h
Unknown y Adjustible
resistance precision
resistor

: MCQ Option Shuffling : Yes Display Question Number : Yes Single

In case of the Wheatstone bridge shown in the above circuit diagram. P=3 k€ and Q = 5k €. The null value for the
galvanometer is obtained when S = 6 kQ. Find the value of R and the resistance measurement range of the bridge if S’

value varies from 1 k€ to 8§ kQ.
Options:

=26kQ
1 % S=500Q1t03.8kQ

R=56kQ
> % S=400Qto 5.8k

R=1.6kQ
s % S=500Qto5.8kQ

R=3.6kQ
4 S=600Q1t04.8%kQ
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R = 2.6 ko
. % S =500 Q to 3.8 ke

R = 5.6 ko
. % S =400 Q to 5.8 ko

R = 1.6 ko
- % S =500 Q to 5.8 ko

R = 3.6 k@
4 v S =600 Q to 4.8 k@
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The pattern obtained when two sine waves having different frequencies are applied to the vertical and horizontal inputs
of an oscilloscope is called:

Options:
, « Lissajous figures

> % Frequency figures

= % Mixed waveform

4 % Phase figures
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The full form of PCI in the context of microcontrollers is:
Options:

, « Peripheral Component Interconnect

- » Personal Computer Interface

- » Personal Computer Information

, » Peripheral and Component Information
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8085 isa/an  -bit processor.
Options:

1. ¢ 8

oo 16

g4 64

Question Number : 25 Question Id : 72462225 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



8085 TH o gaa= gl
Options:
1.« 8

o ® '16
o ® 24

4 ® 64

Question Number : 26 Question Id : 72462226 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
The number of interrupts and flag registers in 8085 are respectively:

Options:

LA

1_%3 8?

ra

%
LA
[we]

!.b.
5
LA
Lh
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An 8086 address bus is a/an -bit bus.
Options:

1 e S
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The program counter and stack counter of 8085 are of:

Options:
, w 16 bits and 8 bits respectively

- % & bits each

- % O bits and 16 bits respectively

4 « 16 bits each
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‘Which of the following is a paramagnetic material?

Options:
1 ® Iron

> % Nickel
3 « Tantalum

4 % Cobalt
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Which of the following is a characteristic of a soft magnetic material?

Options:
, w High coercivity
Low remnant magnetisation

2. ¢

- » Higher hysteresis loss



, = Larger area enclosed by their hysteresis loop
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‘Which of the following diagram correctly represents GTO?

Options:
Anode

Ciate

1 & Cathode

Collector

-

> Enmutter

Drain

|_
e
Gate —

z ® Source




Anode

/

4 ® Cathode

Ciate
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Options:
Anode

/

1 & Cathode

Gate

Collector

{jntcﬂl <
®

A Emutter

Drain

l_
i
Gate —

2 ¥ Source

Anode

Gate

4 ® Cathode
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The steady-state output voltage V,,, of buck boost converter is given by:

Options:



1 ® Vaut T Vm (DX(]-_D)]
O Vout = Vm (IKEI_D])

2 Vaut = Vm (DX(D - 1]]

4 B Vour = Vin D
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Correct: 1 Wrong: 0.33
R & gFC FAGeX HI TI-ET IFCYE Ao Ve 1 fohEer @Ry faam Sar g7

Options:
1 ® Vaut = Vm (DX(]-_DJ]

o ® Vaut = Vm (lf(l_D:})
= o Vout = Vm (DKED - 1.].)

Voue = K

out in

4 ® D

Question Number : 33 Question Id : 72462233 Question. Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
For a three-phase. half wave AC to DC gonverter, V- is given by:
Options:

33V,

1.4 2T

Cos ¥

33V,

Cosd
- ® T

. Zm(l—l—cosaf)
_ T

2Vin

cosda
4 ® =n

Question Number : 33 Question Id : 72462233 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
off FH, geF I THT ¥ IHT FAa & v V. Fwe @y & e 2

Options:



Vm
= (14 cosa)

2V,
“Meosa
4 & W

Question Number : 34 Question Id : 72462234 Question Type: MCQ Option Shuffling: Yes Display Question-Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Which of the following functions is not performed by a signal conditioner?
Options:

, w» Amplification of the sensor signals

> « Noise addition

- w Conversion of currents to voltages

4 %
Supply of (AC or DC) excitations to the sensors so that changes in resistance. inductance or capacitance are converted
to changes in voltage
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Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Araer FEner aw F=Rf@a 7 @ FiF o +7 =8 G smar 2

Options:

f i

T Heqql

2. ¢

5 % HIC T Aecd H TV

4 ®
T F 3O (T 7 &) o sfed s gk, ees (Sswew) T uRer (FfEE) F 9ieds,
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Question Number : 35 Question Id : 72462235 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.33
Which of the following is an 8-bit bus?

Options:
1 % Futurebus—+

> % PCI
s % EISA

4 o ISA

Question Number : 35 Question Id : 72462235 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
=AH W g O 8-faw sw &2
Options:

==
| » FEREE

. % PCI
- » EISA

L v ISA

Question Number : 36 Question Id : 72462236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Logic 1 in RS-232 is:

Options:

L« 3V to 25V, typicdlive-12V

+3V to ~25VWptypically +12V
- % T3V to+5V: typically +3V

—3V to +25V; typically +12V

Question Number : 36 Question Id : 72462236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

RS-232 H dlftarss 1 ST 22

Options:




| v 3V ¥ -25V; 3H dlX W —12V
o w +3V { +25V; I’H @l W +12V

+3V § +5V; H{TF dIT 9T +3V

o % —3V ® +25V; A d W +12V

Question Number : 37 Question Id : 72462237 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Data is sent from the DCE (Data Circuit Terminating Equipment) to the DTE (Data Terminal Equipment) at pin
number:

Options:
1 1

| ]

Question Number : 37 Question Id : 72462237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

22T @ DCE (ster ®fee efaafisr sfoause) & DTE (s effwa saude) # By Re d9v ov &=
STaT 87

Options:

1 % 1

Question Number : 38 Question Id : 72462238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
If the reception line is at a logical low for a longer time than usual. then serial communication has:
Options:

, % Framing error



- % Overrun error
3 « Break error

, w Parity error

Question Number : 38 Question Id : 72462238 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

g N 18+, AT § A0S AT 9% Al df g af BIRad Fagiehes (FaR) & FEaonad
H & T grem?

Options:

hdeT 3
1. % 3
- HERA S
S.Vaa;?ﬁ

aREr (wEan) e

4 %

Question Number : 39 Question Id : 72462239 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
In the universal serial bus USB-2.0, the red-colour cable at pin number 1 denotes:

Options:
1 % Ground

o W I

T W 1=

4 « VBUS (5V)
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Correct : 1 Wrong: 0.33

e gfoeder Wifae 78 USB-2.0 & R 78T 1 WX o T &1 Fadl ohHd Hohdldh g7
Options:

| % 3T
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Question Number : 40 Question Id : 72462240 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Selecting mode causes the ECP port to behave as a Standard Parallel Port, without bi-directional functionality.
Options:

. « Standard

> % ECPFIFO
s % EPP

4 % FIFO test
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Correct : 1 Wrong: 0.33
chRftarcas FocaFaT (TR-EFITT B & AT, ECP 91¢ &, AlF% TAEET 9 & §9 H

TR F & BT AT & TTT HF
Options:

| v TS5 (AEH)

, « ECP FIFO

z % EPP

, » FIFO test &%)
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Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



The equivalent resistance R, and current i for the circuit in the below circuit diagram are:

i
—_—
O

|:.5u§ :‘L:luu
42 .
. Ty
2oy (* © = n =300
R
Iﬁu:f ;]t*iuu
5 »
Options:
R, =6.9320,

; ® i=1458A

R, =572,
> % i=2478 A

R, =91239,
s % i=2458A

R, =9.632 2,
4 & i=12458 A
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frafo@a 9wy sma # IRFH & 0T §Aded 9ok R, 3R e i 41 87

i
-

[+ 1=

e
=

Options:

R,,= 6.932 Q,
. % i = 1458 A

R,,= 572 @,
. % i = 2478 A

R, = 9.123 0,
2 % i = 2458 A



R, = 9.632 Q,
4« 1 = 12458 A

Question Number : 42 Question Id : 72462242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Ge and Si have:
Options:

1 Negative temperature coefficient of resistivity

-~ » Positive temperature coefficient of resistivity

- w High resistance

4 % Low resistance

Question Number : 42 Question Id : 72462242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

Ge 3T Si # g1 2l

Options:

* FIRIEhdT & FHRIcHAS dIIHT 0T

1.

o Sfalesdr & HFERIcHs diaal oM

5 » 3= AU
4 % T iR

Question Number : 43 Question Id : 72462243 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Discrete energy level formed due to doping in n-type material is called:

Options:
, w» Acceptor energy level

> w Mid energy level

-  Donor energy level



, » Intermediate energy level
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N-Z189 ATHIT H ST & FROT §d4« el JTIT FAT TAT F1 FIT gl ATl 272
Options:

| » CFETE TS o (TN FE FR)

, « A3 Tt dEe (AT ST FR)

. o ST TS AT (IeTehed! FaAT TR)

4 % AT Ta= Ja9d (Hegadl Far TR)

Question Number : 44 Question Id : 72462244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Which of the following is not used for doping a puresilicon crystal?

Options:
1 « Germanium
-~ % DBoron

z % Gallium

4 % Indium

Question Number : 44 Question Id : 72462244 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
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Correct: 1 Wrong: 0.33
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Options:
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Question Number : 45 Question Id : 72462245 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Which of the following types of instruments are not used as ammeters or voltmeters?

Options:
{ ® PMMC

> % Hotwire
- % Moving coil

4 Electromagnetic

Question Number : 45 Question Id : 72462245 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

forafaf@T & 5T 951 F 39RO 7 390, THET a1 eemiel@ ®T & Fa7 T Srar 82
Options:

. %« PMMC

, % BIEAR (TH dR)
ST ] "~ "

s sFgHIRTeS (Regagrasa)

Question Number : 46 Question |d : 72462246 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

If a piece of metal is made to have a temperature gradient between its two ends. an emf is observed to exist between
those ends. This effeet 15 known as:

Options:
1 « Thomson effect
> % Seebeck effect

%z % Peltier effect

4 % Thevenin effect

Question Number : 46 Question Id : 72462246 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



g oTg & THS H, 3EF & A F T A AT T F Ve AR B Fmer § & sus ael
IR & &9 STATE 91E ST €1 59 99T & O ATH ¥ ST ST 87

Options:
| v UTHES 9T

o w Wi JHTE
5 # GATRIT FHTE

R CIGEEIC]

Question Number : 47 Question Id : 72462247 Question Type: MCQ Option Shuffling : Yes Display Question'Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

Materials that have a negative value of X (susceptibility) of the orderof 107* to 107° are called:
Options:

, % Ferromagnetic

5 % Paramagnetic
5 Diamagnetic

4 w Ferrimagnetic
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Line Question Option : No Option Orientation: Vertical

Correct : 1 Wrong: 0.33
107 & 107° % HH # x (FAE) F HONeA® Hod aTell WATIAT I 4T &gl A1l g2

Options:

1@3%?%

z-ﬁmﬁfﬁﬂ’_ﬂ
- v STOHTATEH
4&3%

Question Number : 48 Question Id : 72462248 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The costs associated with defects that are found prior to transfer of the product to the customer are called:



Options:
1 « Internal failure costs

- % External failure costs

5 % Appraisal costs

4 % Prevention costs
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Options:

| v HTONEE [Swerar aeTd

. % B BT e
5 % GHET &g

4 % THEROT SR

Question Number : 49 Question Id : 72462249 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation :Vertical

Correct: 1 Wrong: 0.33
Which of the following is not anvelement of Total Quality Management?

Options:
, w Customer-driven quality

-  Employee non-participation

- % Top management leadership and commitment

4 % Actions based on facts
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Options:
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Question Number : 50 Question Id : 72462250 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Which option represents the correct order for the four-level model of the evolution of quality management?
Options:
Level 1. Inspection
Level 2. Quality Assurance
Level 3. Quality Control
« Level 4. Total Quality Management

Level 1. Quality Control
Level 2. Inspection
Level 3. Quality Assurance
» % Level 4. Total Quality Management

Level 1. Inspection
Level 2. Quality Control
Level 3. Quality Assurance
» Level 4. Total Quality Management

Level 1. Inspection
Level 2. Quality Control
Level 3. Total Quality Management

4 % Level 4. Quality Assurance
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IEC FEUA & Ao & AR T ASa F [0 HE FH S g7
Options:

TR 1. Trdvetor

a7 2. T edl ATRETHA

TR 3. FUTEear fagsor
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TR 1. U fHg=or
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T 2. ToTEedr fazror
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Question Number : 51 Question Id : 72462251 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
‘Which of the following is not a benefit of Total Quality Management?

Options:
, » Reduction in operating losses

-~ % Improvement in production flow
5 % Improvement in product service

4  Increment in liability exposure

Question Number : 51 Question Id : 72462251 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Options:
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Question Number : 52 Question Id : 72462252 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Instrument performance check is a:

Options:
1 « First-line control

> # Second-line control
% % Third-line control

4 % Fourth-line control

Question Number : 52 Question Id : 72462252 Question Type: MCQ Option Shuffling:Yes_Display Question Number : Yes Single
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39eRuT fosurea a9 TR F a F7r 22

Options:

|« FYUH-TIOT AT

, » GECE-EROT fAgsor
o % GArZ-ROT fAg=or

s TgY-T0T AT

Question Number : 53 Question Id : 72462253 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No- Option Orientation : Vertical

Correct: 1 Wrong: 0.33

The binary equivalent of 25.5 is:
Options:

1 ® 10110.1

> o 11001.1

= % 10011.1

4 % 11100.0



Question Number : 53 Question Id : 72462253 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
25.5 1 TAGEH aSAL BT A 87

Options:

. % 10110.1
-« 11001.1
- % 10011.1

. % 11100.0

Question Number : 54 Question Id : 72462254 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
The octal equivalent of 0.BF85 hex number is:

Options:
; ® 0.111585

> % 1577024

Question Number : 54 Question Id : 72462254 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

0.BF85 §H HEAT & THJeY 3Hiacd Hid & g7

Options:

. % 0.111585

., = 1577024
z « 0.577024

. % 0577085

Question Number : 55 Question Id : 72462255 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The current hogging problem exists in:

Options:



, = Diode transistor logic

- % Integrated injection logic

- % Resistor transistor logic

4  Direct-coupled transistor logic

Question Number : 55 Question Id : 72462255 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

Options:

| » STAIS AT st

, « SIS TS AT

L x UoEX TfeFeT dfere

, v SAEE-FIeS TS dleth

Question Number : 56 Question Id : 72462256 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation<; Vertical

Correct: 1 Wrong: 0.33

0.5

Wl K2 3

The value of x3/x1 in the above circuit is:
Options:
1. % 2

3 v 12
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x3/x1 & HeT FT &7

Options:

1 2
oow 8
3« 12

4 % 4

Question Number : 57 Question Id : 72462257 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
In a J-K flip flop. when In =0 and Kn = 1, the output Qn+1 will have a value of:

Options:
1 = 1

>« 0

Question Number : 57 Question Id 172462257 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
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Correct : 1 Wrong: 0.33
fardlr J-K g v A, 57 Jn = 0, Kn = 1 @ & Qn + 1 & H13eE & A fohaalr grom?

Options:

12.3-1
> 0

2 ¥ Qn

4 % Qn

Question Number : 58 Question Id : 72462258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
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Correct : 1 Wrong: 0.33



In SISO shift register, the time delay At is given by:
Options:
1 % Nfc

o ® N'/fe
z % Nic

4 o N/fc

Question Number : 58 Question Id : 72462258 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
SISO fvre e &, gy & 2 At BFEss arT = & e 82

Options:
1 % N%c

- = Nfc
2 ® Nfc

. v Nife

Question Number : 59 Question Id : 72462259 ‘Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
The 4-bit Gray code for decimal number 5 is:

Options:
1 « 0111

> % 1010
5 % 1110

4 % 1000
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AT HEOT 5 F v 4-foe & 5 g @ &2
Options:

1 ]




. % 1010
2 % 1110

. % 1000

Question Number : 60 Question Id : 72462260 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
f(4,B,C,D)=(A+B+C+D).(A+C+D).(A+B+C+D).(B+C).(B+C).(A+ B).(B+ D)
The minimised function for the above expression is:

Options:

1 ® f(A,B,C,D) = (ﬁ—!— EJ[C_—F E]

, v f(A,B,C,D)=B.(A+D)(C+D)
- % f(AB,C,D)= (BA+D)(C+ D)

. % f(A4,B,C,D)=(B.A.D)(C+D)

Question Number : 60 Question Id : 72462260 Question Type ::-MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
fLABCD)=(A+B+C+D).(A4C+D)(A+B+C+D).(B+C).(B+0C).(A+ B).(B+ D)

Y - C
SURNFT cT=Teh Rl =g 1 & g7

Options:
. % f(A,B,C,D)= (A+D)(C+D)

. v f(4,B,C,D)&B.(A+D)(C+D)
. » f(4,B,C,D)= (BA+D)(C+ D)

. » f(4,B,C,D)= (B.AD)(C+D)

Question Number : 61 Question Id : 72462261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Memory address space of 8085A microprocessor is:

Options:
; ® 8KB



4 « 64KB

Question Number : 61 Question Id : 72462261 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
8085A AEHVEHET T HANT 27 T0F g &2

Options:

.« 8 ThaeTseH

Question Number : 62 Question Id : 72462262 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Digital circuit can be made using only gates.

Options:
1 B AND

> % NOT
z ® OR

4 « NOR
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Correct : 1 Wrong: 0.33
BTeea afhe #1 FATT F=5a ITH FT IUAET F FAT T FHhaT gl

Options:

. = AND

. % NOT

o ® OR



. + NOR

Question Number : 63 Question Id : 72462263 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
In 8085 microprocessor. the 16-bit registers used are:
Options:

, = Stack pointer and accumulator

- w Program counter and accumulator

-  Stack pointer and program counter

4, % Accumulator, stack pointer and program counter

Question Number : 63 Question Id : 72462263 Question Type: MCQ Option Shuffling: Yes<Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
8085 AEHWTET H 16-fae foreet =g &2
Options:

- T Is AR TFgHe (F9ded)

s SETH (FUFHH) F3eT AT TFFHT (Fawd)

. » T TS IR FAH HEEL
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Question Number : 64 Question Id : 72462264 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
A precision potentiometer is applied with excitation of 2 V. The change in the output for a resolution of 0.5% will be:

Options:
1 & 001V

> % 01V
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Correct : 1 Wrong: 0.33

fordtr Rffeer OfarsdeT #t 2V 380 & @y HeguaeT fhar ST 81 e 7 0.5% 'A% o
fraar afgas geme?

Options:

L w00 ¥

> % 0.1V
z #® 2V
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Question Number : 65 Question Id : 72462265 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The resistance of a 5-turn helical potentiometer is10 K< and it has 8.000 winding turns. The measured resistance at its
mid-point setting is 4010 € and at quarter point setting is 2210 €. What isthe linearity at the two points?

Options:
, % 05,03

5 o 0.12,03

2 % 012,08

4 % 05,08
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Correct : 1 Wrong: 0.33
forer 5-zot fome SIERETET #1 wfoRiy 10K ¥ 3T @ 8,000 gAEER A1E §| 3585 #uw fig &
BT 9x AT T SR 40100 § Ay Sturg g Bf&T 9x 2210 @ B @ gt w Waear w2

Options:

, » 05,03
s 012, 03
. % 0.12, 0.8

, % 05,08

Question Number : 66 Question Id : 72462266 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.33

The equation Z—f + Ksin 8 = 0 defines a nonlinear control system.
The type of singular points at A(0,0) and B(m,0) will be, respectively:
Options:

1 +« Centre and saddle

> % Centre and focus
= % Focus and saddle

4 % Saddle and centre

Question Number : 66 Question Id : 72462266 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
FHIRIT 2+ Ksing = 0 Tk I 0T JUMelr @7 SR Fear §1 A0,0) 3R B(n,0) W Tw (RTeR)
gt &1 yew, Haen FHar geme?

Options:

| v HeX AR s
. » DIH AT A

, » HE=a AR dX

Question Number : 67 Question Id : 72462267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The characteristic equation of a unity feedback system is given by s® + s + 4s + 4 = 0. Such a system:
Options:

, % exhibits non-oscillatory nature

- % has one pole in the RH s-plane

- « has no poles in the RH s-plane

4 % isasymptotically stable

Question Number : 67 Question Id : 72462267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



ot gfedr Grsde gumel F e FHERT ¥+ 5% +4s + 4 =0 §, W yome REfd § @ Hiaer 32
Options:

| % AT A9 TET FT 8

, « RH s-plane & e 9T

- v RH s-plane H FS O FAar &

, w edearaelf R g

Question Number : 68 Question Id : 72462268 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Consider the characteristic equation

s+ 25 + 4+ K)s? +95s + 25 =10

The range of K for stability of a system with the above equation is:

Options:

K <192

1 B 18

. 109

= o 18

o

3 ® 180
3 109
g B
4 B ig

Question Number : 68 Question Id: 72462268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical
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fafdrse geeTor W AR H=
s*+ 25 + 4+ K)s* + 95 +25 =0

3T GHIOT & JTY YO < Bar & BT & fr d&r 27 872

Options:

109
e

1 % 18

109
K> —
> 18



19

z R 180
109
[ =
4 ® 18

Question Number : 69 Question Id : 72462269 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
The slope of the log-magnitude curve at low frequencies is determined by:

Options:
, % the order of the system

- % the magnitude of the system
-  the type of the system

, % theerror in the system

Question Number : 69 Question Id : 72462269 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
T 3gfeast W afe HAegs IF dead Fas ganT AuiRka g r 87
Options:

| % CHIEAT F FHA A

. % GOSN & 9fyAmT #
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Question Number : 70 Question Id : 72462270 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

The expected value of voltage across a resistor is 40 V. The measurement gives a value of 39V, then the percentage
accuracy is given by:

Options:

1« 97.5%

o % 95.7%



5 % 99.9%

4 % 100%

Question Number : 70 Question Id : 72462270 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
e gfaerss oY Sieeer & 3fdT AT 40V g1 A1 39V F AT H 24T § o 9fFeT afterEar e
22

Options:

| v 97.5%
» « 95.7%
2 99.9%

. % 100%

Question Number : 71 Question Id : 72462271 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Full scale deflection current of a D’ Arsonval movement is 10 mA and internal resistance is 100 Q. If it is converted to a
multirange voltmeter, the value of multiplier required for voltage of 0-50 V is:

Options:
1 % 5.9kQ
5 % 4.1k

1kQ

LA

3 ®

4 o 49k

Question Number : 71 Question Id : 72462271 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical
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& HHETT HAHE 1 o Fohel [STorerle e (Y07 47T faeioe amn) 10mA & 3 mafies sior
1000 81 IR & AT deeder # IiEfdd faar ar & & 0-50V & T 3maeds Ui & A
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Options:

. % 5.9 k0

> % 4.1 kO

- % 5.1 kO



L v 4.9 kO

Question Number : 72 Question Id : 72462272 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Basic composition of Mica is given by:

Options:

, = H2AI3(8104)3

5 of KH>Al3(Si04)4
5 ® KH>Al3;0y4

4 # KH(S104)3

Question Number : 72 Question Id : 72462272 Question Type: MCQ Option Shuffling: Yes<Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
35F (Mica) $T Hel = 4T g7

Options:

% H2AI3(Si04);
. o KH,AI(SIO4);

. x KH2ALO,

4w KH2(SiO4)s

Question Number : 73 Question Id : 72462273 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option :*No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The chemical composition of PVC is:

Options:
H H H H

I U (O
< SO S, .

I T
Cl H Cl H

1. v



F F F F F

l I I I I
o e et D B

| Y [ S [
-« F F F F F

H H H H H H
| | | I | |
—C—=C= C~ Co Ciw = C_{I
| I I |
5 % H H—C—H H H—C—H H
E_ 1
—\‘El‘;i—0—~?i—u0—~
oy B R
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PVC & garafas O3 T 272
Options:

H H H H

| | | I
ez G Gl Gl Gl

| | |
1« Cl H Cl H

F ¥ B B K

| | | I I
N, O B . W, N

|| N\
F F ENF" F

2 ®
H H H H H H
| | | | | |
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s % HH-C-H H H—C—H H




Question Number : 74 Question Id : 72462274 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

For temperatures greater than 180 °C in insulating materials, the insulation class is:
Options:
1 « Class C insulation

- % Class A insulation
= % Class E insulation

4 # Class B insulation

Question Number : 74 Question Id : 72462274 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
fordlr segefeer AeRmer # 180 °C & M AT & T, SegoRia FoTd &7 gl A1RT?

Options:

o T SegenR

[ by
L x T°1 T FoHeRM

L LY
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Question Number : 75 Question Id : 72462275 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
For a reverse gate voltage of 12 V in JFET, the gate current is 1 nA. The resistance between the gate and source is:

Options:
| v 12,000 MQ

- % 12,000 kQ

- % 16,000 MQ

., w 18.000kQ

Question Number : 75 Question Id : 72462275 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



JFET # 12 V F 30 9T 3 & BT, 9ie 772 1 nA &1 91 3t 39 & &= &1 9oy Faar &2
Options:

. » 12,000 M0
. » 12,000 kO
- » 16,000 Mo

, = 18,000 kO

Question Number : 76 Question Id : 72462276 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The output waveform of the given circuit is:

V{t) =3
O—AAN O
+ Ideal +
Diode
V. v

Options:
4 Il'llﬂ
WVl
&i f
_VE
*l.l-
1. ¢
ll'fd
Ve _f\ N
. it
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fw 71w wfFe &1 HEeqe JIwiT F4T B2
v{t) R
O— AN <
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Diode
v = W,
Vofé
+
& &
Options:
4Va
Vy
= t
Ve .

1. v



lM
Ve T 2w
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y -:!I ::. J; t
o % ¥
4V,
Vel /3 {3
. ; ! ..=t
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: VT /[
3 ®
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,'(\ ! ‘]\
,|" 'll ||r \
LU ok b e
t
4 %

Question Number : 77 Question Id : 72462277 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
‘What is true with regard to the cut off region of BJIT?

Options:

L, ® VB~ VE

" i ."B = R'E
5 % VB= VE

4 % VB>Ve

Question Number : 77 Question Id : 72462277 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

BJT &7 ¢ 3TF & & oY & 99 T 87

Options:



, = VB > VE
> VB < VE

=% VB = VE

Question Number : 78 Question Id : 72462278 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
The efficiency of a half-wave rectifier is approximately:

Options:
1 % 80.2%

>  40.6%
5 % 50%

4 % 35%

Question Number : 78 Question Id : 72462278 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

gen-39 IEFewax #ir e7Har fhgdr 2 22

Options:

, % 80.2%
. v 40.6%
2 % 50%

L % 35%

Question Number : 79 Question Id : 72462279 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
In an 8085 microprocessor, parity bit is set if the number of bits are:

Options:
1 « Even

o W Odd



Question Number : 79 Question Id : 72462279 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
fdr 8085 AEHIMIEEY H UEr fae #r =i @ o =ar € =9 foew fr dEr grar &

Options:
1.« HH

glﬁﬁw
3%1

4% 0

Question Number : 80 Question Id : 72462280 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Output Y for the given circuit is represented by which of the following equations?

A -[_,3;': B

-
|

Options:

| « Y=(4B)B(B+C)

5 % Y=(4+B)B+BC)

3 % Y=(4+B)B(EREG)

4 % Y=(4B)B(B+C)

Question Number : 80 Question Id : 72462280 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Options:

| & Y=(4B)B(B+C)

> % Y=(4.+B)B.+BC)

2 ® Y=(4+B)B(B+C)

4 % Y=(4AB)B(B+C)

Question Number : 81 Question Id : 72462281 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

Maximum reverse bias voltage that can be applied before entering Zener region is called:
Options:

, % Reverse voltage

-  Peak inverse voltage

- % Negative voltage

, = Diode voltage

Question Number : 81 Question Id : 72462281 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

SR 8T F 99U T § Tg AL B THGS e sfvean Rew oy sees FeRtRe s e sw @
Options:
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Question Number : 82 Question Id : 72462282 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33



Find the values of Vo.VD, and Ip for the circuit given below:

Options:
V=2V
VDo =10V

. % ID=05A

V=10V

V=2V
> x ID=0A

V=5V

V=1V
z % ID=2A

V=0V

V=12V
4 ¢ ID=0A

Question Number : 82 Question Id : 72462282 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

#9 ffw 7iv ' F@w Vo, Voo 3T b F1 719 719 #4I

"‘

+12 'V

Options:
Vg =2V
Vpz = 10 V

% Ib=05A



Vp =2V
> % ID=0A
Vg =5V
Vp =1V
s ID=2A
Vp =0V
Vp =12 V
il =0 A

Question Number : 83 Question Id : 72462283 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
I (mAy

B0 A

30 WA

40 pA

30 A

20 pA

10 uA

\\_uifnn

o] 5 10 15 e 'z

For the load line and Q-point defined in the figure, find the values of V. Re and Ry for fixed-bias configuration.
Options:

Voc=20V

Rp=2kQ2
1 W Rp=772 k@

Voo=2V
Rp=7.5kQ
5 % Rp=77kQ2
V=13V
Re=5kQ
5 % Rp=72kQ



Vee=10V
Rc=3kQ

, « Rp=770kQ

Question Number : 83 Question Id : 72462283 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

& (mA)

—. TTY )

10 pA

2 ?/""_ \fuuﬁ.
—— L

& 72 gy F TReRE i A 3R ¥ IEe F e aow Fieew (RRET aww ) F
BT Ve, Rcm Rﬁmaﬁ'i

Options:
Vee = 20V
Re = 2 k@

i v RB =772 k@
Ve =2V
Rc = 7.5 k@

, « Rp = 77 ka

Vee =15V
Rc = 5 ke
s % RB =72 k2

Vee =10V
Rc = 3 k@
4 % RB =770 k@

Question Number : 84 Question Id : 72462284 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
The current passing through a terminal is i = {3‘[2 =1
Determine the total charge entering the terminal betweent=1sandt=2s.



Options:
i 556

5 % 6.667C
3 % 4.56C

4 % 471C

Question Number : 84 Question Id : 72462284 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
R T dERa T @WFEi =@ - A, At=1s3dNt=2sF g cfiaa &
99T FIA dTor I T TUROT Y

Options:

¢ 55C
. # 6.667 C
5« 456 C

L% 471 C

Question Number : 85 Question Id : 72462285 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
As shown in the given figure, three lightbulbs are connected to a 9 V battery. Calculate:
(a) the total current supplied by the battery, (b) the current through each bulb and (¢) the resistance of each bulb.

9V =

|

Options:
(a) 5A
(b)2.22 A
27T A
(c) 4.05Q
1.945 Q
L 12



(a) 5A
(b)1.22 A
27T7TA
(c) 5.05Q
1.45 €2
> % 197Q

(a) 3A
(b)3.22 A
1.77T A
(c)2.05Q
1.945 €2
s % 2297Q

(a)4 A
(b)3.22 A
3.7TA
(©)4.5Q
3.945 Q2
4 % 6209

Question Number : 85 Question Id : 72462285 Question Type: MCQ. Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

s & smgpfa # fegmar 7 B, & ose sea 9V STl § 3 E

(a) & ganr 3myfed fFT 1T &Hie @ Hor A, (b) TAF Fow F A Fe AT (¢) TAF Tod F gy
&I T FHL

oV =

Options:
(a) 5A
(b) 2.22A,
2.77A
(c) 4.05 ©
1.945 @

L 15%7n



(a) 5A
(b) 1.22A,
2.77A

(c) 5.05 ©
1.45 ©

s ® 197 ©

(a) 3A
(b) 3.22A,
1.77A
(c) 2.05
1.945 ©

S 2297 ©

(a) 4A
(b) 3.22A,
3.77A
(€) 45 @

3.945 O

4% 6.29 ©

Question Number : 86 Question Id : 72462286 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Consider the polynomial equation below:
st+26+3s2+4s+5=0
The number of roots with.positive real part are:
Options:
1 2

2.233

Question Number : 86 Question Id : 72462286 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

wms4+253+352+45+5=0 H UellcA® aTedias ([§&8 arel Hall @l HE&dT Ghaer g2

Options:




Question Number : 87 Question Id : 72462287 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Lag—lead compensator possesses:

Options:
, # one pole and two zeros

5 o WO poles and two zeros

5 % two poles and one zero

4, % onepole and one zero

Question Number : 87 Question Id : 72462287 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 88 Question Id : 72462288 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

The frequency at which the magnitude of the open loop transfer function is unity. is called:
Options:

, = Dhase crossover frequency



- % cut-off frequency

- % System frequency

4 gain crossover frequency

Question Number : 88 Question Id : 72462288 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Tg Iged o W ger o7 TRAT gFaeRer IRE FE AT §, SHA FAT FgT ST 82

Options:

1 - FIEHER Hredr (3mgfea)

, w TFE-3TH e (3mfed)
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Question Number : 89 Question Id : 72462289 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The collector-base and base-emitter junctions in the saturation region are:

Options:
1 « forward biased

- % forward biased andseverse biased
= % reverse biased and forward biased

4 % reverse biased

Question Number : 89 Question Id : 72462289 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Options:
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Question Number : 90 Question Id : 72462290 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
The main advantage of VMOS is:

Options:
, % decrease in power handling level

> % V-cut

5 % low current rating

4  increase in power handling level

Question Number : 90 Question Id : 72462290 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
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Correct: 1 Wrong: 0.33
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Question Number : 91 Question Id : 72462291 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Select the most appropriate option to fill in the blank.

About half hour later, I saw old lady walking towards my house.
Options:

i » daan

5 & 81} an

- % 8n;a

4 % a ; the

Question Number : 91 Question Id : 72462291 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Select the most appropriate option to fill in the blankl

About half hour later. I saw old lady walking towards my house.
Options:

i, = ‘g8

5 80 ;an

- % 8n;a

4 % a ; the

Question Number : 92 Question Id : 72462292 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Select the most appropriate option to fill in the blank.

The child ran the street unmindful of the heavy traffic.
Options:
1 % round

5 o across



5 » through

4 ® Over

Question Number : 92 Question Id : 72462292 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Select the most appropriate option to fill in the blank.

The child ran the street unmindful of the heavy traffic.
Options:
1 % round

= o ACross
- u through

4 ® oOver

Question Number : 93 Question Id : 72462293 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Select the most appropriate option to fill in the blank.

Mother took me home after the doctor my knee.
Options:
, w bandaged

-~ % is bandaging

- % has bandaged

4  had bandaged

Question Number : 93 Question Id : 72462293 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Select the most appropriate option to fill in the blank.

Mother took me home after the doctor my knee.

Options:
, w bandaged



> % is bandaging

- % has bandaged

4 « had bandaged

Question Number : 94 Question Id : 72462294 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Select the most appropriate option to fill in the blank.

She asked me I would be able to attend the seminar after the illness.
Options:
1 « Whether

5 % S0

- » although

4 % until

Question Number : 94 Question Id : 72462294 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Select the most appropriate option te fill in the blank.

She asked me I would be able 1o attend the seminar after the illness.
Options:
1 « Whether

5 % S0

- » although

4 % until

Question Number : 95 Question Id : 72462295 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Select the antonym of the given word.

CONTINUOUSLY
Options:



, = regularly

-  Occasionally

5 % immediately

4, % usually

Question Number : 95 Question Id : 72462295 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Select the antonym of the given word.

CONTINUOUSLY
Options:
, = regularly

- « Occasionally

5 % immediately

4 % Uusually

Question Number : 96 Question Id : 72462296 <Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Select the option which means the same as the given word / group of words.

making deep sounds showing great pain
Options:
, % growling

> % groaning
5  Toaring

4 ® Crying

Question Number : 96 Question Id : 72462296 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



Select the option which means the same as the given word / group of words.

making deep sounds showing great pain
Options:
, % growling

> % groaning

o o roaring

4 ® Crying

Question Number : 97 Question Id : 72462297 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

In the following sentences four words or phrases have been underlined. One of them is incorrect. Choose the incorrect
word or phrase from the given options.

No sooner he had entered the house than he was called back by his bossto the office.

Options:
1 #% No sooner

- « he had
= % than

4 % called back

Question Number : 97 Question Id : 72462297 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

In the following sentemeces four words or phrases have been underlined. One of them is incorrect. Choose the incorrect
word or phrase fromi the given options.

No sooner he had entered the house than he was called back by his boss to the office.

Options:
1 # No sooner

> « he had
= % than

4 % called back



Question Number : 98 Question Id : 72462298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Select the wrongly spelt word.

Options:
1 « moustach

> % mutual
= % mushroom

4 % mutation

Question Number : 98 Question Id : 72462298 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Select the wrongly spelt word.

Options:
1 « moustach

> % mutual
= % mushroom

4 % mutation

Question Number : 99 Question Id : 72462299 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Select the correct passive formiof the given sentence.

The Finance Ministet made a policy statement in the Parliament yesterday.
Options:
, A policy statement was made by the Finance Minister yesterday in the Parliament.

- % A policy statement had been made by the Finance Minister yesterday in the Parliament.

- % A policy statement was being made by the Finance Minister yesterday in the Parliament.

4 % Apolicy statement was to be made by the Finance Minister yesterday in the Parliament.

Question Number : 99 Question Id : 72462299 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



Select the correct passive form of the given sentence.

The Finance Minister made a policy statement in the Parliament yesterday.
Options:
, « A policy statement was made by the Finance Minister yesterday in the Parliament.

> % A policy statement had been made by the Finance Minister yesterday in the Parliament.
5 % A policy statement was being made by the Finance Minister yesterday in the Parliament.

4 % A policy statement was to be made by the Finance Minister yesterday in the Parliament.

Question Number : 100 Question Id : 724622100 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Select the option that gives the correct indirect form of the given sentence.

He said to me, “I am your uncle. I live in Canada™.
He told me that

Options:
1 # I am his uncle and that I live in Canada.

- % hewas your uncle and that he lived in'Canada.
- % lam youruncle and that I lived in Canada.

4 he was my uncle and that he lived in Canada.

Question Number : 100 Question Id : 724622100 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option: No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Select the option that gives the correct indirect form of the given sentence.

He said to me, “I am your uncle. I live in Canada™.
He told me that

Options:
1 % Iam his uncle and that I live in Canada.

- % hewas your uncle and that he lived in Canada.

- % 1amyouruncle and thatI lived in Canada.

,  hewas my uncle and that he lived in Canada.



Caantitative Aptitude

Section Id : 7246223
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 15
Number of Questionsto be attempted: 15
Section Marks: 15
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section |1d: 7246223
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 724622101 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Let x be the greatest number that will divide 703, 1803 and 1473 leaving in each case the same remainder y, the value of

lx — ]| is:
Options:

4 % 110

Question Number : 101 Question Id: 724622101 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option :No. Option Orientation : Vertical

Correct: 1 Wrong: 0.33
AT ST x I3 § 927 §&T g, 5\d 39 703, 1803 3y 1473 & o071 f&7r =w, af v+
o & g7 d9Fe y HEr 2l [x—y| FT AR T

Options:

1 % 43

PP ] 54
3 v 67

4 % 110

Question Number : 102 Question Id : 724622102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.33
Mitu’s expenditure and savings are in the ratio 4:1. If her salary is increased by 30% and savings increased by 20%,
then what is the per cent increase in her expenditure?

Options:
1 * 30

5 o 32.5
ST ] 35

4 % 375

Question Number : 102 Question Id : 724622102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
g % @9 AR T99 F FG9a 4 © 1§l G 58F Ia7 H 30% Fr FhE FA £ AN T=@a 7 20% H
I B ¥, o 3uF @9 F o gfava # gfy @

Options:

1 % 30

o o 325
o ® 35

, = 375

Question Number : 103 Question Id : 724622103 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No OptionOrientation : Vertical

Correct : 1 Wrong: 0.33
Asha sold an article at a loss of 5%. Had she increased the selling price by T 110.50. she would have gained 8% on the
cost price. Had she sold it for < 943.50, the profit percent would have been:

Options:
1 ® 0.6

o W 10
5 % 105

4.\;_,—-"11

Question Number : 103 Question Id : 724622103 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

HTAT & O FEJ F 5% FH gl 9T &= IS 9 5 F OFw qow # T 110.50 Fr = F A, o 3
AT HeT T 8% N TS gl Tle I IFG F T 943.50 H I=, A 38 fraar wferera wmer gem?



Options:

1 = 96
> B -10

2 % 105

4 v 11

Question Number : 104 Question Id : 724622104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

The marked price of an article is 25% above the cost price. If it is sold for T 450 after a discount of < 78.75. then
profit/loss percentage is closest to:

Options:

, « 6.4% profit

> % 6.4% loss

6% loss

L
"
LA

4 % 35.6% profit

Question Number : 104 Question Id : 724622104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

ol avg &1 3 HeT 3% A9 Hed & 25% U g1 T 78.75 1 A & & TR Al 3HH T 450
9T = ST g, 3 giaea e T F Reeaa

Options:

. v 6.4% @

.« 6.4% @fey
. % 5.6% @rfer

. % 5.6% omeT

Question Number : 105 Question Id : 724622105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Monthly incomes of A and B are in the ratio 3 : 2 and their expenses are in the ratio 2 : 1. If A saves ¥ 7,800 and B
saves < 6,000, per month then the ratio of A’s income to B’s expenditure is:

Options:



4% 11:3

Question Number : 105 Question Id : 724622105 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
A 3T B @ A1flie AT & 3 : 2 F AT g 3R 35 T A 2 1 1 & IS gl TG A F AR F9d
% 7,800 ¥ 3 B #r A1l w9 T 6,000 &, @ A F1 37 AR B F @ # 3T &

Options:

® 3
> % 152
z« 21 : 4
4 % 11 : 3

Question Number : 106 Question Id : 724622106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

A, B and C start a business. A invests 25% of the capital for one-fourth of time. B invests 20% of the capital for one-
half of the time and the remaining capital was invested by C for the whole time. Out of a profit of T 68.400 after a year,
what is the difference between the shares of profit of A and C?

Options:
. % 49,600

5 T 46,800
- % 45,600

4w 43200

Question Number : 106 Question Id : 724622106 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

A, B 3R C et T s 3T FId &1 A, o & 25% ST F TH-AtuTs §RT & e AT &
g, B, = & 20% $9T ® 31 FFET F e 9w #ar € 9 C AW G & R FE F v G
FIAT g1 T a9 F T2, T 68,400 F FoT oA H ¥ A AR C F o091 H IR &

Options:



| = T 49,600
, » T 46,800
. » T 45,600

. » T 43,200

Question Number : 107 Question Id : 724622107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
When 2 is subtracted from each of n numbers. then the sum of the number so obtained is 116. When 5 is subtracted
from each of n numbers, then the sum of the numbers so obtained is 20. What is the average of the given n numbers?

Options:

Question Number : 107 Question Id : 724622107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
n;ti@m‘”frgé%mmﬁﬁzmm%,ﬁwmmﬁwﬁaﬂmwﬁehaﬁm
=TT § ¥ 5 9T SIGr 8, O 6 YRR 9Tcd FEATHT FT TET 20 g1 & T n gEamET o A §
Options:



Question Number : 108 Question Id : 724622108 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Sudha can row 18 km/h in still water. She finds that it takes her just three times as long to row up as to row down the
stream. What is the speed. in km/h. of the stream?

Options:
1.¢ 9

Question Number : 108 Question Id : 724622108 Question Type: MCQ. Option-Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

T 5o #, gur Fr = 18 & 9fy ger g fedr gl = arw & fEar 7 97 == 7 38 aer s w
ST § 3! &1 GO H UNT H Fiaegd [ A TF F H 8 3G A A AT o9 g1 URT #hr
I, fFAEeE #, Fr 27

Options:

1. ¢ 9

Question Number : 109 Question Id : 724622109 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
A certain sum is lent out for 4 vears at 5% p.a. compound interest, the interest being compounded yearly. The interest
for the third year exceeds the interest for second year by T 73.50. The sum is:

Options:

, % T24.400



> o < 28,000
- % 30,000

4 31,200

Question Number : 109 Question Id : 724622109 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
% TH T 5% T &T & THgEr 20 W 4 99 F v 3ur & Ay &, e s aise wate
BT g1 Ifg ey a¥ & s, gEY av & s | T 73.50 e g, O 3w b &

Options:

. = T 24,400
, v % 28,000
. » ¥ 30,000

. » ¥ 31,200

Question Number : 110 Question Id : 724622110 QuestionType: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

x>+ Bx+1

Ifx +>= 6,x # 0, then the value of 1s:

xt g 2

Options:

Question Number : 110 Question Id : 724622110 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
z
u‘ﬁ'x—kl:ﬁ,xiﬂ %‘,T—I’fﬂ EF:I'IHE’%‘:
X

xd 42



Options:

Question Number : 111 Question Id : 724622111 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
0.16x0.00025 0.039x0.0625x0.8512 |

The value of —— = 18
0.05x0.0325 0.002x0.0105xX1.216

Options:
1 1

Question Number : 111 Question Id : 724622111 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
0.16x0.00025 v 0.039=0.0625x0.8512

0.05=0.0325 0.002x0.0105%1.216

FT AT &

Options:
1 -1

Question Number : 112 Question Id : 724622112 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



A student was asked to simplify the following:

PedpTaen s St
9 O A AR
ittt LR
9 20 38 3 3 4 6
His answer was ; . What is the difference between the correct answer and his answer?
Options:
117
119
119
3 « 100
117
4 % 100

Question Number : 112 Question Id : 724622112 Question Type: MCQ. Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

e Reamt 1 T 1 e F= F o &g 7

3

2——1—_}{?—1‘1— i+— i
5 5 R 4 &
1 1 % TR gl S - a
1-X1—+=—- 222
9 20 38 3 3 & 4
13 I~ * *
3HH Sccl - UT| 3 Beal T Wl 3o H &7 39T 22
o
Options:
117
1_$$ 30
119
2 ® 50
119
= % 100
117
4 # 100

Question Number : 113 Question 1d : 724622113 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



A fruit seller has 2646 apples, 4914 mangoes and 6048 oranges. He wants to pack them in boxes such that each box has
equal number of fruits of the same kind. What should be the least number of boxes?

Options:
1 = 28

oow 30

Question Number : 113 Question 1d : 724622113 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

TF Bl Ta3aT F IH 2646 ¥, 4914 3 3R 6048 HaX §1 9 5 TR FFAT A 3H TER UF FLET
TMEAT § T TAF 0 H TF & TFR F G 31 99T IAF H A5 qEan off g9+ gr) gat f
AT FEAT T gl A1fg?

Options:

1 % 28

oow 30
= = 32

4 v 36

Question Number : 114 Question Id : 724622114 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No OptionOrientation : Vertical

Correct : 1 Wrong: 0.33
L 1 3/4
26[51”5:&2 22 < 56;5]2 2 1.&:{2‘1‘} / .

[(2?}1,-{3]_5."’2)({53}1f5 [{2_35}3;?]11'{5

The value of

Options:
1 * 8

Question Number : 114 Question Id : 724622114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



1 1
28[512/5x2~12..56/5]2 B—lx(zze}?-!*

[T P xs s T [-35)/7]°

FT AT T

Options:

1_%8

>« 9

Question Number : 115 Question Id : 724622115 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

In an examination, A scored 50% more marks than C and B scored 100% more marks than C. How much percent less
marks has A scored than B?

Options:
1. 25

331
3

T W 30

b
®
LA
o

Question Number : 115 Question Id; 724622115 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No' Option Orientation : Vertical

Correct : 1 Wrong: 0.33

T aleT #FATC B 50% 30 F 3 wg BT ik B T C & 100% 310 30 o= &0 A 7 B
T frae 9faeg F8 3+ gea Fe?

Options:



Logical Ability

Section Id : 7246224
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 10
Number of Questionsto be attempted: 10
Section Marks: 10
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number : 1
Sub-Section |1d: 7246224
Question Shuffling Allowed : Yes

Question Number : 116 Question Id : 724622116 Question Type: MCQ Option Shuffling : Yes.Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Select the option that is related to the third term in the same way as the second term 1s related to the first term.

Hillock : Mountain : : Pond : ?
Options:
1 & Lake

o R Well
=z % Beach

4 % Island

Question Number : 116 Question Id : 724622116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
37 fFed &1 0w i S J6T oG ¥ 3 3H aig HaiUd ¢ T9H SN gEd 9% 9gel 98 ¥ Hatad
gl

9gEl : 9ad ; ; dre ; ?
Options:

1_\",-,'5';ﬂ?~r



Question Number : 117 Question Id : 724622117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Select the pair of words from the given options that shares the same relationship as the word pair below does.

Emotional : Sentimental
Options:
1 % Violent: Docile

-  Eloquent : Articulate
3z % Servile : Rebel

4 % Placid : Resentful

Question Number : 117 Question Id : 724622117 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
e 73 et § ¥ 37 A2 1 997 e TF7 5 58 TR # G999 ¢ S5 F a9 T3 T et
2

HATF . S-ilcichdl'-!ucl
-t = LY
Options:

1 % %’Hﬁ"ﬁmﬁ

G {;dd'dl : 4;4—‘-#%

z ® ald Eailél

4 % Qﬁ?ﬁﬁ?

Question Number : 118 Question 1d : 724622118 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

Three out of the four words below are similar in a certain way and one is different. Select the option that is different
from the others.

Options:
1 % Table

> % Chair

-  Cutlery



4 % Desk

Question Number : 118 Question Id : 724622118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

& 1 4 el &, w1 A oreg ve AfREa alF ¥ aaw # wEfg § A v BT B 3 gAE
Y ST 3§ e B
Options:

1_%&“

FET

o #®2

5  HEAL
4_3@%@5

Question Number : 119 Question Id : 724622119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

If °S’ stands for “‘Addition’, *@’ stands for ‘Subtraction’, ‘#’ stands for “Multiplication’, and ‘©" stands for ‘Division’,
o

then 144 © 12#4S4@2=
Options:

Lh
[ ]

1 =

[
b
LA
o

Question Number : 119 Question Id : 724622119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option ;' No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Ifg $ & H}Y FY, ‘@ FHY W, # F FT qOW, I QO F HT AT g, A
144©12#4 %4 @2=7

Options:

1 = 52
o= 54

z #® 48



Question Number : 120 Question Id : 724622120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Select the figure that correctly completes the image given below.

Options:

Question Number : 120 Question Id : 724622120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



3W AT & T8 H S A G 2 fw @ 9ot wr g

%

Options:

-
o

a
- ' |

»

Question Number : 121 Question Id : 724622121 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
What will come in place of the blank in the series?

1
2

3.%-5

2.9 1733, 12R.25Y
Options:
1 ® 76

2_\-,.-"55



ST ] 67

4 * 84

Question Number : 121 Question Id : 724622121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

afafae 2o 7§ ea we & g T2 smaem?

2.9 17 33 . 129 257
Options:

1 = 76
> v 65
o ® 67

4 ® 84

Question Number : 122 Question Id : 724622122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Manyata scored 73 marks in a class test. Tanvi scored 9marks more than Manyata but 6 marks less than Suyog. Radha
scored 4 marks less than Pinky. and 3 marks more than Suyog. Who scored the highest marks in the given test?

Options:
1 % Radha

o  Pinky

5 % Suyog

4 % Tanvi

Question Number : 122 Question 1d : 724622122 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Teh HET T TIET H Hedd H 73 30 9o g1 G B OAGA § 9 e HiUw R GART F 6 3
FH II°F gTI TeT F H F 4 3 FH X GAT F 3 3 A3F o7 gUI T AT H oA IF
8 T gue

Options:

1 = IEl



Question Number : 123 Question Id : 724622123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

If land is called water; water is called sky; sky is called space; and space is called moon, where will boats sail?
Options:

1 & Land

5 % Space

3 v Sky

4 % Moon

Question Number : 123 Question 1d : 724622123 Question Type : MCQ. Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
afE fF H T, T BN I, IHRT B ARG, R ARG F Ag FEA g, ar AHIT Hgl G ToE?
Options:

Gl

1 #® B

2> & e

= o HIhIA

4 % i

Question Number : 124 Question Id : 724622124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
An address is given below which has been reproduced against the four alternatives. Of them, three have some mistakes
or the other, while one is exactly the same. Select the option that is exactly the same as the given address.

Mr. Thaddeus D’Souza

Flat No. 816, ‘C* Wing,
Trinity Housing Society,
Gymkhana Road. Virar West,
Thane, Maharashtra

Options:



Mr. Thaddeus D'Souza

Flat No. 816, ‘C’ Wing,

Trinity Housing Society.,

Gymkhana Road. Virar West,
, « Thane. Maharashtra

Mr, Thaddaus D’Souza

Flat No. 816, ‘C’ Wing,

Trinity Housing Society.

Gymkhana Road. Verar West,
5 % Thane, Maharashtra

Mr. Thaddeus D’Souza

Flat No. 819, ‘C’ Wing,

Trinity Housing Society.,

Gymkhana Road, Virar West,
- % Thana, Maharashtra

Mr. Thaddeus D’Souza

Flat No. 816, ‘C’ Wing,
Trimity Housing Society.
Gymchana Road. Virar West,

4 % Thane, Maharashtra

Question Number : 124 Question Id : 724622124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation«: Vertical

Correct : 1 Wrong: 0.33

AR T G M Ree A g e i s R Resar Ad da A go A
gﬁgﬁ%%,mﬁ:mﬁwmﬁlmﬁﬁqﬁgﬁﬁmﬁwaﬁmmﬁmgm%dwﬁ:
Hrr forar &

Mr. Thaddeus D'Souza
Flat No. 818, ‘C" Wing,
Trinity Housing Society,
Gymkhana Road, Virar West,

Thane, Maharashtra

Options:
Mr. Thaddeus D’'Souza
Flat No. 816, ‘C’ Wing,
Trinity Housing Society,
Gymkhana Road, Virar West,
, « Thane, Maharashtra



Mr. Thaddaus D’Souza

Flat No. 816, ‘C’ Wing,
Trinity Housing Society,
Gymkhana Road, Verar West,
Thane, Maharashtra

Mr. Thaddeus D’'Souza

Flat No. 819, 'C’ Wing,
Trinity Housing Society,
Gymkhana Road, Virar West,
Thana, Maharashtra

Mr. Thaddeus D'Souza

Flat No. 816, ‘C’ Wing,

Trimity Housing Society,

Gymchana Road, Virar West,
4 % Thane, Maharashtra

Question Number : 125 Question Id : 724622125 Question Type : MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Nashit is Diya’s only brother. Nashit’s wife, Shazia( has a brother, Suleiman. Fiza is Diya’s only niece. How is Suleiman
related to Fiza?

Options:
1 « Uncle

> % Brother
=z % DBrother-in-law

4 % Father

Question Number : 125 Question 1d : 724622125 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 126 Question Id : 724622126 Question Type: MCQ. Option-Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
1929 session of Congress that formalised the demand for ‘Purna Swaraj’ was held in:

Options:
1 % Kolkata

> « Lahore
% % Amritsar

g Delhi

Question Number : 126 Question 1d : 724622126 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
1929 F FEE F HOIAT Fgl W AT fohar 7/ ar of Swd 'quf Fauer #r Ay & = 9

Options:
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o » ARR
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Question Number : 127 Question Id : 724622127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Name King Ashoka’s son whom King Ashoka sent to other places to carry out duties of Buddhist missionary.

Options:
1 % Kunala

- « Mahendra
3z % Tivala

4 % Jaluka

Question Number : 127 Question Id : 724622127 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

HIC FF & 30 9T & 7 #7 g, 50 g 3w F die el & wded 7 @ aa F v
3 TUET 9T AT AT?

Options:

1 ® 2

Question Number : 128 Question Id : 724622128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option: No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

The southern stretch of the western coast of India is called:
Options:

1 % Konkan

- % Kannad Plain

= « Malabar Coast

4 % Coromandel Coast



Question Number : 128 Question Id : 724622128 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Options:
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4 % HIUASA de

Question Number : 129 Question Id : 724622129 Question Type: MCQ Option Shuffling : Yes Display. Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
All of the following are tributaries of Indus except:

Options:
1 % Ravi

~ % Deas
=z % Chenab

4 « Gomti
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Question Number : 130 Question Id : 724622130 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
‘Which among the following has the power to appoint the Governor of a State?



Options:
1 « The President

- % The Prime Minister
z % The Vice President

4 w The Attorney General

Question Number : 130 Question Id : 724622130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Options:
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Question Number : 131 Question Id : 724622131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

‘Which of the following is correct?
Options:

, % The Vice-Presidentis elected for a term of six years.

-  The Vice-President is elected for a term of five years.
- % The Vice-President is elected for a term of four years.

4, % The Vice-President is elected for a term of seven years.

Question Number : 131 Question Id : 724622131 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 132 Question Id : 724622132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
What is the minimum age requirement (Prescribed by the Constitution) for being a member of a Panchayat?

Options:
L% 18 years

23 years

e i
v 21 years

Question Number : 132 Question Id : 724622132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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o % 23 T
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Question Number : 133 Question Id : 724622133 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Which among the following mobile wallets has come up with payments bank?
Options:

, w Freecharge

o o Paytm



= % Mobikwik

4 % Oxigen

Question Number : 133 Question Id : 724622133 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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3_&%
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Question Number : 134 Question Id : 724622134 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

India occupied spot on IMD 2017 talent rankings.
Options:

1 & 51%

> % 14t
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Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

IMD 2017 gfasT F=T & sxg =t mmgm%a
Options:
| v 51ar

5 % 14aT

s % 31aT
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Question Number : 135 Question 1d : 724622135 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

India has been ranked out of 102 countries in an environment impact survey done in 2017 by
MoneySuperMarket that ranks the countries in terms of the human impact on environment per person.

Options:
i T

> % 44t
s % 620d

4 % 39t
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Question Number : 136 Question 1d : 724622136 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Google uses algorithm to rank their search engine results.

Options:
1 % BFS
> % DFS

z % Inktomi



4  PageRank
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Question Number : 137 Question Id : 724622137 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
‘Which among the following is true of HTML?

Options:
, = GET requests cannot be bookmarked.

> & GET has no restrictions on data length.

= « POST data is not cached.

, # POST data is displayedin the URL.
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Question Number : 138 Question Id : 724622138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

‘What is the full form of USB that we associate with a USB drive?
Options:

1 « Universal Serial Bus

- % Unique Service Bus

=z % Uniform Service Bus

4 % Uniform Serial Bus

Question Number : 138 Question Id : 724622138 Question Type: MCQ Option Shuffling.: Yes Display Question Number : Yes
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Question Number : 139 Question Id : 724622139 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option: No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Which of the following characteristics enables a computer to perform completely different types of tasks?
Options:

| ® Accuracy

> % Speed

- u Diligence

4  Versatility
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Correct: 1 Wrong: 0.33
Which of the following is a mobile operating system developed by Google?

Options:
1 = IDE

> « Android
3 % Linux

4 % DOS
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